63 Springfield Lakes Boulevard, Springfield Lakes, 4300

2024 Requirements List for Year 6 Your Access Key: 9VW3Y



## Please order online at wincschools.com.au

At Winc we want your child to have a strong start to the new school year, which is why we have worked with your school to make Back to School hassle free.

### Ordering made simple.

We've made it quick and easy to order your child's new year requirements. Simply visit **wincschools.com.au** and follow these four steps.

- Search for your school, Springfield Lakes State School, Springfield Lakes, QLD and enter your school access key 9VW3Y if required.
- 2. Complete the student's details and select Year 6.
- Review your requirements list and make changes if required.
  Please note: some list items have been denoted by your school as a prerequisite for the subject or year.
- Proceed to checkout.

Please note: For home deliveries only, if you have more than one student at the same school, please repeat the above steps.

Once completed, an order confirmation will be sent to your email address.

Please note: Any technology items you order may be sent separately.

### Deadlines and delivery information.

#### Home delivery:

**Delivery Fees:** 

Free Delivery: for orders placed on or before 15 December 2023; \$10.95 delivery: for orders placed after 15 December 2023.

#### **Australia Post**

Orders are delivered via Australia Post's eParcel service. As soon as your order is dispatched an email will be sent to let you know the Australia Post tracking ID Number. Your order can be tracked at auspost.com.au.

Note: PO Box addresses are not accepted by Australia Post.

### Payment methods accepted









## Back to School that gives back.

Every time you buy textbooks or stationery from Winc, we give a portion of your spend back to your School. A few small exclusions apply, which you can find out about at wincschools.com.au/givesback

### Have a question?

For assistance with your order, returns and refunds and delivery information, or for a general enquiry, please visit wincschools.com.au/helpcentre



63 Springfield Lakes Boulevard, Springfield Lakes, 4300

2024 Requirements List for Year 6 Your Access Key: 9VW3Y



To view our full terms and conditions, please visit wincschools.com.au/termsandconditions.



63 Springfield Lakes Boulevard, Springfield Lakes, 4300

# 2024 Requirements List for Year 6 Your Access Key: 9VW3Y



CODE	cription is also required. You will be invoiced \$10 at the start of the School		DDICE	TOTAL
CODE	DESCRIPTION	QTY	PRICE	TOTAL
tudent Pack				
you already have som	e of these listed items from previous years, please do not select again on	the booklis	st.	
ecommended I	ems			
25090955	Winc Premium Exercise Book A4 8mm Ruled 70gsm Red Margin 64 Pages	14	\$1.05	\$14.70
18680647	Winc Whiteboard Marker Bullet Tip 1.5-3.0mm Assorted Set 6	2	\$3.96	\$7.92
27633000	Winc Eraser PVC-Free Standard Office 60 x 21 x 10 mm Each	2	\$0.25	\$0.50
66681600	Winc Pencil Sharpener Metal Double Hole	1	\$0.74	\$0.74
25095990	Staedtler Natural HB Pencil Each	12	\$0.32	\$3.84
18960577	PaperMate Inkjoy Capped Ballpoint Pen Medium 1.0mm Blue Each	2	\$0.43	\$0.86
18960578	PaperMate Inkjoy Capped Ballpoint Pen Medium 1.0mm Red Each	2	\$0.43	\$0.86
86515086	Bostik Glue Stik 35g	2	\$2.54	\$5.08
25087043	Winc Document Wallet Polypropylene A4 Button Clear	2	\$0.62	\$1.24
25121661	Faber-Castell Magnetic Whiteboard With 2-in-1 Marker	1	\$9.08	\$9.08
25093640	Winc Unpolished Wooden Ruler 30cm cm/mm	1	\$0.52	\$0.52
86624472	Winc Scissors 210mm Comfort Grip No.8 Black Handle	1	\$5.09	\$5.09
25092976	Elizabeth Richards Magnetic Whiteboard Eraser Mini Assorted Each	1	\$1.02	\$1.02
25133140	Micador Coloured Pencils Pack Of 12	1	\$2.27	\$2.27
25097507	Teter Mek A4 Botany Book 8mm Ruled Interleaved 56GSM 96 Pages	2	\$1.02	\$2.04
25093476	Winc PVC Pencil Case 356x178mm 2 Zip Pouch	1	\$2.76	\$2.76
25093455	Winc Premium Exercise Book A4 10mm Grid 70gsm 96 Pages	4	\$1.40	\$5.60
87172704	Celco Protractor Hang Sell 10cm 180 Degrees	1	\$0.56	\$0.56
87161434	Winc Recycled Highlighter Chisel Tip 1.0-4.5mm Assorted Colours Pack 6	1	\$2.97	\$2.97
07248002	Winc Display Book A4 Refillable 20 Pocket Black	1	\$1.32	\$1.32
25093732	Cumberland 2024 Student Diary Casebound A5 Week To View	1	\$2.12	\$2.12
25163950	Casio Fx-82au Plus II 2nd Edition Scientific Calculator	1	\$39.55	\$39.55
18643230	Logitech M90 Corded Mouse	1	\$13.55	\$13.55
	·		Tota	l: \$124.
urchase from S	chool			
athletics Subscription	is required. The school will invoice \$10.00 at the beginning of the 2024 year	ar.		
			To	otal: \$0.
etain from Prev	ious Year			
17036448	Verbatim Urban Headgear Multimedia Stereo Headset with Microphone and Volume Control	1	\$11.47	\$11.47
			Tot	al: \$11.
ther Items				

63 Springfield Lakes Boulevard, Springfield Lakes, 4300



# 2024 Requirements List for Year 6 Your Access Key: 9VW3Y

CODE	DESCRIPTION	QTY	PRICE	TOTAL
25142911	(25142911) LV Facial Tissues (This item will be delivered to the school)			\$2.35
25141992	(25141992) LV Copy Paper A4 (This item will be delivered to the school)			\$5.12

